5.

FTaT T FT FAC HIS T ATA T HT T
B LS

The red color value in the color code of

carbon resistance is-

a. 0

b. 1

c. 2

d 3
D0t e T ATA I S A
T | gl 8-

Power of a Convex lens with a 20cm focal

length in diopters is -

a. 4
b. 5
c. 3
d 2
p-2T2T & AGATAS § T 4T ATEF BId -

The majority charge carriers in p-type
semiconductor is-
a. % electron
b. &% Holes
c. Ie Photon
d. 9re Proton
TS aA % [0 HIA-HT AT ol 872
a. F=q(
b. F=qE +VxB
c. F=qE +BxV
d. F=q(E +BxV)

AT & ST HT IA TSI g1 T TLATI
AT fRaeT & Hear 8?

Atomic number decreases when alpha

particle is emitted from the nucleus?

a. 1
b. 2
c. 3
d 4
e faReor gidt 2-cathode rays are

a. Zoeid (electron)
b. =i (neutron)

10.

11.

12.

c. WIeiT (proton)

ferTaTe =eT AT
kWh is a unit of

a. fa=ra afxw #7 (electric power)
b. fa=a o=t & (electrical energy)

c. TA-3HY T (torque)
d. 3= a1 #7 (electric current)
erferfea arfserr 7 gaw stfers womf 2-

Which of the following most stable?

iHe

12¢

160

. 3%Fe

I GEAaslT T Tl i TAFTE qE@TT | AadT
oTHAT —

g o T o

Magnification power______ by increasing the
length of the tube of compound microscope
a. ¥edl g increases
b. =edT g decreases
. et ggdt g does not change
d. ST & ST g remain zero

STRTST T AT He | 21l &-
The maximum speed of light is

o

a. g@THInair
b. efterr ¥in glass
c. UTHI #in water

d. faafq# in vaccum
Frtasr fsT 1 =TeTs it 8-

width of the Interference fringe -

DA
da
da

DA
a1
D

d. f=d.DA
Uifte 1 gfarg grar g

The resistance of ammeter is

a. =
b. =

C. =

a. &
b. =T

c. FEAFH
d. FEgTa=T




13.

14.

15.

16.

17.

18.

Tt m g=raT % a9 V & wfe|T For v
TeTeed graT g

The wavelength of a particle moving with a

v velocity of m mass is-

a — mr

4

Y

b. -
c. A=/imV

v

d. A:";—z

T GeAadT it e erwar & o wiear -
I qol 87

Which relation is correct for magnification
capability of joint microscope?

a. M= ;—:(1 +2)

b. M="2(1+2)

c. M=(1+2)

d M=Q1-2)
TERTTAF T2 TG BIaT &
Optical path is equal to

a. AIAAATH x TI-AATS

b. TAAATE / TA-FaTS

c. TI-AATE / AqaqAIH

d. s «
i feorie it foHT 2-

Dimensional formula of plank constant is

a. ML2T
b. ML2T-2
c. MLT
d. MLT-2
STET 2raT § iron is
a. SFFHIT paramagnetic
b. Wi diamagnetic
c. d®rg ¥ ferromagnetic
d. FFEHIT non-magnetic

€0 FT ATAFH BIAT &
a. Nm-
b. Fm-
c. Cv

d. F.m

19.

20.

21.

22.

23.

1 FTee FITET EAT &
a. 1
b. 1JC!
c. 1CJ
d 1JC
T T qT¢ TTH T /94T -

A hot wire ammeter measures

a. ATl g7 T HT /I

Average value of alternating current

b. JeATAAT &1 T A a7 AIA-HTET-

Root mean square value of

alternating current

C. TATAAT 4TI T AThTIor AT

Instantaneous value of alternating

current

d. SeaTadt g 1 forEe /T

Peak value of alternating current
T TR § i 7 wefy "t g2
What amount decreases in a transformer?

a. &0 current

b. dreesT voltage

c. 9rf<F power

d. smgfxr frenquency
e e 7 AvE g E
__like y -rays are like-

a. o R

b. ey B

c. HTE o

d. wF oy
fere- e a1 wgfa g &

The nature of electromagnetic waves is-
a. I transverse
b. @qaed Longitudinal
C. AT ST F=ed AT

Both transverse and longitudinal

d. =73 Mechanical




24.

25.

26.

27.

28.

FFF T SATTHATT AFTS)Lg( TAT TFaehr T
FFITE (Lm) | T BraT -
The relation between geometric length (Lg)

and the magnetic length (Lm) is

a. Lm= g

b. Lm= 2L

c. Lm=Lg

d. Lm=2Lg
7fe & foFeft STTg T F9F FIT , AT tand wT
FSF EIAT 2-

If & is the dip angle of a place, then the

expression of tand is-

a. Bv/Bn

b. Bwu/Bv

c. BvBH

d. (Bv/BHh)2
1 qHI &7t C ATl HLT H AL 7F
T STrE 9% IEhT aHqed 9Tt gial &-

When a capacitor with two equal
capacitance (C) is connected in parallel, its

equivalent capacitance is-

a. 2C
b. C
c. C/2
d. 1/2C
Feferfaa & i e e T 751 272

Which of the following is not an
electromagnetic wave?

a. T TET photo waves

b. X- fFTr X-rays

c. €A+l I sound waves

d. sra<h 3 infra red rays
TE FT Tcd AT 2T -

Density of nucleus is about to
a. 2.29 x 107 Kgm-3
b. 2.29 x 107 Kgm-3
c. 2.29 x 1017 Kgm-3

20.

30.

31.

32.

33.

d. 2.29 x 107 Kgm-3
fAeaferfea & o Trfer &1 /1 aiee/Hiex
ar
Which of the following units of volume is

volts / meter?

a. fa=re= w# 4 (Electric flux)

b. A= fa9a (electric potential)

c. fa=ra amhar (electric capacitance)
d. e & (electric field)

1amu & graT g-1amu is equal to
a. 1.6x10-2"Kg
b. 1.6 x 1027 Kg
c. 1.6x10-31Kg
d. 1.6x10-19Kg
EIXT T AT FLE 2ral 8-

Refractive index of diamond is

a. 1

b. 1.5
c. 242
d. 4.14

FTTTHF HEAT 25 T fGememe grar 8- %

Binary number of 25 is

a. (1100)2
b. (1001)2
c. (11001)
d. (11101)

THA FHIVT FT HIT I gF 7 Fore@a @ it 7
ST 9T —

The value of the dip angle when going from
the North Pole to Equator -

a. T®a¥ ¥gar g remains constant

b. @=dT g increases

c. ¥=dl g decreases

d. g "earg R searg

First decreases then increases




34.

35.

36.

37.

38.

rerer 7 T grar 8-
Dimension of the charge is
a. AT
b. AT
c. AT
d. AT?

BTSN T & e A0 g9 A 2 -
g7
Which series in the hydrogen spectrum is in
the visible part?
a. @TzHT A9 Lymen series
b. =& %t Balmer series
c. °TEw Avft Paschen series
d. e =it Bracket series
e 3P 39 ¥ F3 & e sragr T @
I ETT 8
Lenses treated to correct myopia defects
a. ¥add concave
b. 33T« convex
c. ooTHY cylindrical

d. AJA Idd-plane-convex

Electron volt is the unit of -
a. 9T it charge
b. fawar=a< & potential difference
c. T &I current
d. eI & energy
ATATAT FTHRA IT HUTEH TEHT 3T To s
TfEeRT % ST & T 2raT e-The charge of
the collector plate and condensing plate on
the charged capacitor is
T
1uC
c. 1C

d. sFEq

39.

40.

41.

42.

43.

THAT T 2rdT 2-Tesla is a unit of
a. fa=a v #i electric flux
b. T ¥ HT magnetic flux
c. FFIT &7 % magnetic field
d. e &= #i electrical field
e &1 7o -

Brewster's rule is-

a. p=tani,
b. = sinij

C. W =cosi,
d. p=coti,

Tqe TISH GTRT SIAqH (= 1 HI97 2T 2-

The angle of minimum deviation by a thin

prism is-
a. (1-p)A
b. (1-A)
c. (p-DA
d. (A-1)p
Fefeorfea 7 freet 7gaw g7 awar 22

Which of the following has the greatest

drilling capacity?
a.
b. e T
c
d

TRt el 9 % sfaw 7ty +q e o o
ST, T HYOT 98 & e arer a=a waw
2hT-

If g charge is placed inside its spherical
surface, the electrical flux coming out of the

entire surface will be-

a. gxeo
b. q/¢o
€0

c. —
d. g2/¢o




44.

45.

46.

47.

48.

49.

STEET % I8 =T T AT 21l &
The unit of charge surface density is
a. C/m2
b. Nm-
c. Cv
d. Cm
=g e it orf<r gt &-
Power of electric circuit is-
a. VR
b. V2R
c. V2/R
d. V2RT
T T o= ares ao /7T STt 8-

The electric carrying force of a cell is
measured by-

a. dleedie? g1 voltmeter

b. deaATHIET T galvanometer

c. THIET ET ammeter

d. fawasTdt 31T potentiometer
AR el <o 3 o= v o graT 2

There is an electric field inside a charged

spherical conductor.

a )

b. L
c 0o
d. ECK

ST dToa THTS 2-

The electron volt is unit of -
a. 9T T current
b. smaer &t charge
c. Tawataw & potential difference
d. oI &t energy

FFETHIT AT T F Z[AT FLd LT T

aradTa-Periodic oscillation of the magnet

oscillating with increasing magnetic

moment
a. dEdrg
b. wedrg

50.

51.

52.

53.

d. = F FE AE
(25W,220V) T4 (100W,220V) % T Feal § &
TTA2rer SATaT g
The resistance of two bulbs of (25W, 220V)

and (100W, 220V) will be higher -

a. 25W &t

b. 100W =T

c. I & I g

d. = A FE AH

TV y&Tor % forw S a7 srgtaoere #7 -

IYATT ZI4T 8, 98 8-The frequency on which
broadcast frequency is used for TV

broadcasting is-

a. 30-300kHz

b. 30-300 Hz

c. 30-300GHz

d. 30-300MHz
N-2T2T T AGATAH ITH FLA & o0 TH=a9 7
EEIRINRIER RIS

To obtain n-type semiconductor, the
impurities added to germanium are-
a. =q: 999 (tetravalent)
b. TS (trivalent)
c. T=HANTF (Pentavalent)
d. TAH ¥ FIE 9=l (none of these)

F1 TfaTrer 3:4 F FqATT H AL 77 T 2
B TAH IAH FEAT F TIOTHT FT AT R1T-

Two resistors of the ratio 3: 4 are connected

in parallel. The ratio of the result of heat

generated in them will be-

a. 43
b. 34
c. 68
d. 9:16

C. Tl daadrg




54.

55.

56.

57.

58.

T T HATHTAY TRt HeTiey 67 aiear &

= =T I 92 gTAT &1 719-The value of
capacitance______ when a dielectric parallel
plate inserted between the plates of
capacitor

a. 9edT g increases

b. W TdT & remains same

c. ¥=ar g decreases

d. TAH ¥ FIE 92T none of these
Farereft =t % form oeriaw grar &-

The phase difference for destructive

interference is-

a. (n+1)A
b. (2n+1)A
c. (2n+1)
g ™

A
1.5 qEdATF AT U 39 o9 1.33

HTFTATH F I F ZATT g1 TE FARTT FMM-

A convex lens with a refractive index of 1.5

is immersed in water with a refractive index
of 1.33. It will behave

a. 3T &« #iT 9% like convex lens

b. ¥aae o« Fit a¥g like concave lens

c. fusw ff 922 like prism

d. staqae =997 F 97 like concave mirror
ot T femeeer 7 #fs Faer smgfa 50Hz , ar
fesfar smafy 2refi-

In full-wave rectifier, if the input frequency is

50 Hz, the output frequency will be -

a. 50Hz
b. 100Hz
c. 25Hz
d. 200Hz
Foreft STt gt 7 ITEHAT ST geher

FEelt T 79T Ny Ta N2 T 8, d9- In a step
up transformer, N1 and N2 are wrapped in
primary and secondary coil respectively,

then-

59.

60.

61.

62.

a. N1>N2
b. N2>Nq
c. Ni=N2
d. N:=0

ST YT U ATEAH & gEL ATEAH H 9T Fdm
&, a1 & | iy whatad 72t 2t 2?2

When light enters from one medium to
another medium, which amount does not
change?

a. T&TeET wavelength

. ¥mgh frequency

c. T speed

(o

d. 3™ amplitude

i & A1 e o AT ST

Which of the following is deflected in electric
field-?
a. T O —rays

o

T 3RO X-rays
c. TIrasHT 3RO uv raysa
d. Fre 20T cathode rays

FEE FAad Y@ 9% 8T 07 FT HIT Zrav
2.
The value of the dip angle on the magnetic
equator is

a. 0°

b. 90°

c. 45°

d. 60°
T ST AT Sooft T FE=[d So11 § Jaedr g, 98
g.
The device which converts mechanical

energy into electrical energy is-

a. ¥ FEeAt-induction coil

b. T@AET Dynamo
c. ZTEHTHY Transformer
d. ®@reT Motor




63.

64.

65.

66.

67.

T 318 I &l 2 F2A | SR oAF HT
IYANT graT 82 Cylindrical lens is used to

correct vision defect?

a. fawe gfear

b. e gfear -

c. ST-gfear

d. uRamfesw

2 ToheT areq T 3 &, a7 YT u% a9

When we look at an object, the image
formed on the retina is-

a. dreqatas ua #4T real and erect

b. aTEqfa U 3eaT real and invert

c. FTeufa® U4 4T Imaginary and erect

d. FTeafa® U4 3eeT Imaginary and invert

AT T TLTRATH BT &-

dielectric constant of metal is-

0

1

-1

1 e PeaT aer st £ afA F A drea
¥ ratora T U< raer 1 fErvetae @
BT

The charge on the charged capacitor will

2 o T oo

be___ when 1 volt voltage applied between

the strips of capacitor of 1uF capacitance.

a. g7
b. 1y

c. 1C

d. s\

BT Teed T & & Aoft 3o 9T 7
TEdT g2

Which series of hydrogen spectrum falls in
the visible part?

a. aTHY AT Balmer series

b. e AT Bracket series

c. ®TZH AV Lymen series

d. 9= 9t Paschen series

68.

69.

70.

71.

72.

=g Farefirr T At Tl 2t -

The nature of electromagnetic wave is
a. ¥qgeed Longitudinal
b. IIET Transverse

c. @Ml Both
d. TFH ¥ FIE 921 none of these
et Y O SR & srafard Fr & =

o= a1 F g1 7t 37 o= o 20 et T 2F
ST 7 far=]a &<t %1 719 2°1- The electric

force between two charged particles located
at a distance is F. If the distance between

them is halved, then the value of electric

force will be-
a. 4F
b. 2F
. !
d
NOR 3 T FferAT % &
The Boolean expression for NOR gate is
a. A+B=Y
b. AB=Y
c. AB=Y
d A+B=Y
ST T fow gae g

Lenz’s law is related to
a. A9 H (charge)
b. F=H & (mass)
c. oIt A (energy)
d. ¥R & (momentum)

Foreft uetew i sie T STaT € a1 TEeht
HTT =T

when an ammeter is shunted, its total
conductance
a. ¥edl g (increases)
b. =l g (decreases)
c. fRua¥ vgdt g (remains constant)
d. TAH FFIE T2 (none of these)




73.

74.

75.

76.

77.

TAYTHA T TH.AS. AT &

The S.I. unit of self- induction is

a. Coulomb
b. Volt
c. Ohm
d. Henry
TTAAHT AT F1F HGIT e §

The working principle of dynamo is

a. 9T & SSHIT TATT 9T

Heating effect of current

b. fEE@-Fa Y7o 9T

electromagnetic induction

c. IRT FFFA T
induced magnetism
d. IRa fErE ™
induced electricity
s wIzav e RIgia 9% 19 F3aT &

The optical fiber works on the principle of
a. U (Scattering)
b. #uad+ (Refraction)
c. aui-fagur (Dispersion)
d. U Afafea 9erEad(Total internal
reflection)

T srafora @raer MR AT F 9w
e frear FT A grar g

The electric field intensity inside a hollow

spherical charged conductor is-

a. o
b. /,
c. qF
d. /2
TS @ilg Tty aare it Frrenefterar p gt ¢

The permeability of a ferromagnetic
substance is

p> 1
=1
p<7

a0 oo

u=20

78.

79.

80.

81.

82.

£ TIAAT T TH. TS, WHAF a1 §
The S.1. unit of pole strength is

a. N
b. N/A-m
c. A-m
d T
T TeATAT (A= & & qHEH | =

0.6 sin 100 & fa=fuq g | o= am #it srgfy
2

The equation of an ac is represented by

| = 0.6 sin 100. The frequency of ac is

a. 50
b. 50r
c. 100
d. 100w
a7 AT
The unit of reactance is
a. ohm
b. farad
c. ampere
d. mho

STERTST % ATTET T TFHA AT I F2a1 § The
transverse nature of light waves is
supported by

a. =afa®r (Interference)

b. TTrad(Reflection)

c. &4au (Polarization)

d. =9t f¥&raor (Dispersion)
BTSSISTT TUFeH 6T T |1 A0 STae<h AR 7
Tl TS 22
Which series of hydrogen spectrum does
not lie in infrared region?

a. Humphri series

b. Fund series

c. Bracket series

d. Lymn series




83.

84.

85.

86.

87.

88.

B~ foror faerfora gt 7

B-rays get deflected by

a. TEETERYT &= 7 (Only gravitational
field)

b. Fa FFEIHIT &7 H (only magnetic
field)

c. Had e &= ¥ (only electric field)

d. e o B a &

both magnetic and electric field

TTATE FT ITANT FJ & THh
Diode is used as

a. vag® i aLg (an amplifier)

b. =<t Y 978 (an oscillator)

c. Higelex &l %8 (a modulator)

d. YfFewrae # 9%E (a rectifier)
L-R wfwer 7 erf<F [orie 2T &-
Power factor of L-R circuit

a. R+wL
b. R

‘IR2+w2L2
c. R /RZ +w2l?

wL
d —=
R

AT T AT T gF T THA-H 07 HT HIT 21aT &

The angle of dip at magnetic pole of earth is

a. 0°
b. 90°
c. 45°
d. 180°
\ TS AT RISl il IS0 -
The energy of a photon of wavelength A is
hC
a3
hA
b. =
c. hcA
A
d. —=
TV 5| # forw S s fy-a2me &1 ST
FATE, AT

which frequency range is used in TV

transmission?

89.

90.

91.

92.

93.

a. 30-300 Hz
b. 30-300 kHz
c. 30-300 MHz
d. 30-300 GHz
T % THTLT FT TFH gIavT g

The nature of spectrum sun light is
a. 9dd (continuous)
b. &+ Tr#zH(Line spectrum)
c. ST T@T &1 FUF2H (spectrum of dark
lines)
d. FTAT TSI FT TFH (spectrum of dark
bands)

TERTET o 3T T HTLOT &

The colour of light is cause of
a. T A (its frequency)
b. THHT A (its velocity)

c. TEH FT (its phase)
d. TSI AT (its amplitude)

Areet wHfex &1 vt grar 8-

The resistance of an ideal ammeter is
a. 9 (zero)
b. «ga ®H (very less)
c. a@‘cr #fa= (large)

d. QT (infinite)
rerfertea & e sroadais qas sttasd grar
g7
For which substance the refractive index is
largest?
a. Glass
b. Water
c. air
d. Diamond
AT F T Fed FT HF Srav & -
The S.I. unit of surface density of charge is
a. C/m2
b. N/m
c. CNV

@

o
A= RN




94.

95.

96.

97.

98.

99.

Electrostatic field is
a. @l (conservative)
b. HTET (non-conservative)
c. =M (Both)
d. =AH ¥ FIE 927 (None of these)

a. 3x10°
b. 9x10°
c. 8.85x 1012

d. None of these

TSI T aforg sraer grar g

The specific charge of electron is
a. 1.8 x 10" C/Kg
b. 1.8 x1019C/Kg
c. 1.9x10'9C/Kg
d. None of these

%= & (Nickel is)
a. wiagFa®a (diamagnetic)
b. sFFHIT (paramagnetic)

c. @rggea (ferromagnetic)
d. TAH T FIE 92T (none of these)
FHAA T %00 FhaT (13T BT 2-

The radius of curvature of plane mirror is

a. A°d (Infinite)

b. <7 (zero)
c. +5¥H¥ (+5cm)
d. -5 (-5 cm)

Forrettar aivoer & et fog o= |sft emeret &ir
EIEIMCIRERITE

The algebraic sum of all the current at a

point in an electric circuit is

a. Zero
b. Infinity
c. Positive

d. Negative

100.

101.

102.

103.

SATATH FIALTT TAHIE T AT 21dTl &
The value of amplitude modulation index is
a. ZHT T a1 ¢ (always be zero)
b. 13T « ¥ &= (between 1 and =)
c. 03fiT 1% fi= (between 0 and 1)
d. ZHT « (always «)
FF 9 & (Coulombian force is)
a. F==1¥ 9 (central force)
b. fa=a = (electric force)

c. @ (both)

d. TAH ¥ FIE 9=l (none of these)
H 1< ¢ (Basic gates are)

a. AND, OR

b. NAND, NOR

c. OR,NOT

d. AND, OR, NOT
e T o T & [A=a Iaag g

The resistance of healthy human body is

a. 50,000Q
b. 10,000Q
c. 1,000Q
d. 100Q




